
790 ADVENTURE,white-CKD w/o engine 2022 <2022><CN><F9687V2>
BATTERY

57400

Pos Part Number Description Additional Text Quantity

1 63508025010 Electrical system front suppor 1.00

2 54603048100 clip nut M6 2.00

3 83008000012 special screw M6x12x3 3.00

4 93008082010 Range change metal nut M6 2.00

5 63507040070 Seat bushing 2.00

6 014581060201 Count.snk screw M6x20 TX30 2.00

7 63511053050 Rubber battery holder 1.00

8 63511097000 Ground wire 1.00

9 63511059000 Starter cable 1.00

10 63511059050 Battery cable 1.00

11 0025060166 HH collar screw M6x16 TX30 2.00

12 C90111053000 Battery HTZ12A-BS(DA) charged 1.00

13 62111059060 COVER POSITIVE POLE 1.00

14 63508055010 Foam rubber 33x132 1.00

15 63508055000 Clamping bracket 1.00

16 64111096000 mass cable starter-frame 1.00


